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QUESTION 1

Why would you update HP Intelligent Provisioning on Gen8/Gen9 ProLiant servers\\'?
A. to prepare deployment of new operating systems

B. to update the SA agent used by Insight Control server provisioning

C. to update microcodes in RBSU/UEFI

D. to system performance improve the overall

Correct Answer: D

Reference:

http://www8.hp.com/us/en/products/servers/proliant- servers.html#tab=TAB5?jumpid=hpr_r1002_usen_link1

QUESTION 2

Which HP solution contains useful utilities, driver and firmware?
A. HP Service pack for ProLiant

B. HP insight Diagnostics

C. HP insight remote support

D. HP Smart Storage pack

Correct Answer: A

Explanation:

tested together as a bundled set
for an extended cycle. All of these irmware and software components are deployed by HP SUM. SPP
deploys system software for Linux- and Windows-based ProLiant and BladeSystem servers and firmware
for many VMware-based systems. Figure 6-11 illustrates the SPP firmware update process.

QUESTION 3

On which API is HP OneView\\'s open development program built?
A. JAVA

B. UEFI

C. RESTful
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D. Net

Correct Answer: C

Explanation:

OneView features an open development platform designed to adapt rapidly to business needs. This
programmable platform, built on the REST AP, allows enterprises to scale beyond data center walls to
the cloud.

After you set up the OneView appliance, you can configure the software-defined templates
automatically. For example, you do not have to set up clustering on your own, establish the
heartbeat network, install the management server operating system, install the application, or
configure separate services.

QUESTION 4

Which statement is true regarding Virtual Connect FlexFabric-20/40 F8 Modules\\'?
A. Four internal stacking links are provided.

B. There is no support for full height blades

C. There is mixed traffic support in paired uplinks.

D. A maximum of six modules are allowed in a single enclosure.

Correct Answer: D

Explanation:
[Bay 1] VC FlexFabric-20/40 F8 BE VC FlexFabric-20/40 F8 or Empty | [Bay 2]| FlexFabric Adapter 10/20 LOM
[Bay 31 VIC FlexFabric-20/40 F8 -»  |\WCFlexFabric-20/40 F8 or Empty| [Bay 4] FlexFabric Adapter 10/20
Mezzanine
[Bay 5] VC FlexFabric-20/40 F8 -> W FlexFabric-20/40 F8 or Empty| [Bay 6] FlexFabric Adapter 10/20
_ | Mezzanine
[Bay 7] Empty ->  |Empty [Bay 8]
QUESTION 5

In which device bay can a D2220sb storage blade be installed when partnered with and placed in the same zone as a
half-height blade server?

A. in a device bay directly below the partner blade

B. in a device bay directly above the partner blade
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C. in the same device bay as the partner blade
D. in a device bay adjacent to the partner blade

Correct Answer: D
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